13

L, ds .
+ refers to tube end

ADJUSTABLE ELBOW STUD  BSP - PARALLEL
Pl o 7 B s o B i T -t st i |

NOMINAL | TUBE ' BSE | FART Wl
WORKING [0D.| 51 | 52 | b Lz Lt I3 4 i di | THR | NUMBER |Kg/100
PRESSURE G ! | Fieres |

.6 12 | 14 | 12 | &F 14 | 345 | 23 ] 14 1ia" | IAES 06 RP | B0

8 14 17 . 14 29 19 37 5 12 13 1/4" | LAES OB RP B
sSoKgiem 2| 10 | 17 | 19 | 5 | 30 | 18| 395 | 26 | 12 | 13 | 19" | LAES10RP | 110
12 19 22 . i7 32 22 4.5 27 iz 22 I/E" | LAFS1Z RP | 15.0
15 |22 127 |21 | 36 | 27| a6 | 20 | 14 | 25 | 172" | LAES 15RP | 449
" 2{ 18 |27 32 ms| 0| 27| 495 31 |14 | 25 | 12" | LAESIBRP | 354
160Kaiem oo a0 | 36 1275 | 44 | 32| s45| 23 [ 16 | 32 | 304 | Laes22Rp | 473
28 36 41 F30.5] 47 91 e 31 i8 39 L LAES 2B RP | 690
100Kgjem 2| 35 | 46 | 50 |3%5| 56 | 50 685 | 39 | 20 | 49 | 1s" | LAES3SRP | 1083
42 55 B0 < 63 E& 75 42 22. Lz 12" | LAES 43 RP | L4656

5 |12 117 | 16 | 31 | 12 40 | 28 | t2 | 18 | 1/4" | SAESO6RP | 10.9
S| 8 |17 |18 | 17|32 | 19| 42 30|12 | 18 | 1/47 | SAESOBRP | 12.7
SEXE w0 | 19 | 22 1175 34 | 22| 445 | 31 | 12 | 22 | 3/8" | SAES 10RP | 19.3
12 | 22 | 24 |215| 38 | 22| 445 | 33 |12 | 22 | 3/8" | sAES 12RP | 23.4
H 1 |22 | 27 | 22 |40 | 27| 535 37 | 14 | 26 | 172" | saES 14 RP | 34
E - 15 24 30 | M5 43 27 54.5 37 14 26 /2" 5.-‘5:5 16 RP | 39.4

A 409@[;“2 20 | 30| 36 |265] 48 | 32 645 | 42 | 16 | 32 | 3/4" | SAES20RP | 613
v a5 | 36 | 48 | 20 | 54 | 41| 7r5 | 47 |18 | 39 | 1" | SAES25RP | 1176

30 | 9 | 50 |355] 62 | 50| 785 | 50 | 20 | 49 | 1%" | SAES3ORP | 1655
38 |55 |60 | 41] 72| 55| 8 | 57| 2 |55 | 11 | SAES3ERP | 2333

2
250Kgfcm

PART MNUMBER CODE

X AES KX XX

Saries J

L - Medizm

5 - Heawy

Tube OO (mm) Thread bypd

FF-BSP Faraiiz|



fa k]
+ riefers to tube end

ADJUSTABLE ELBOW STUD

METRIC - PARALLEL

NOMINAL | TUBE _ METRIC pART | VT
WORKING 0.D. S1 | Sz |53 |1z L2 I3 4 i d3 THD NUMBER Kg/100
PRESSURE M Pieces
12|14 | 14| 12 | 27 |345]| 23 | 8 | 14 |MIDx1 | LAES 06 MP| 6.0
14 (17 | 17| 14 |29 | 37 | 25 | 12 | 17 |Mi2x1.5 | LAES 0B MP| 9.5
250Kgfem® |10 17 | 19 | 19 | 15 | 30 |[39.5| 26 | 12 | 19 | M14x1.5 | LAES 10 MP| 11.0
12 | 19| 22| 22| 17 |32 |415| 27 | 12 | 21 |Mi6x1.5 | LAES 12 MP| 15.0
15 | 22| 27| 24| 21|36 | 46| 29 | 14 | 23 |Mi8x1.5 | LAES 15MP| 44.9
5| 18 | 27| 32| 27 [235] 40 |49.5] 31 | 14 | 27 | M22x1.5 | LAES 18 MP| 35.4
roOkgiem I |30 | 36 | 32 [27.5| 44 |545] 33 | 16 | 31 | Maex1s | LAES 22 MP| 47,3
28 | 36| 41| 41305047 | 59| 34| 18 | 39 |M33x2 | LAES 28 MP| 69.6
100Kg/er’ | 35 | 46 | 50 | 50 [345] 56 |e85| 39 | 20 | 49 | M2 | LAES 35MP| 108.8
42 | 55| 60| 55| 40|63 | 75 | 42| 22 | 55 [Mm48x2 | LAES42MP| 146.6
14| 17 | 17 | 16| 31 |'40 | 28 | 12 | 17 |M12x1.5 | SAES 06 MP| 10.9
17| 19| 19| 17 |32 | 42|30 | 12 | 19 | M14x1.5 | SAES 08 MP| 12.7
630Kg/cr” 10 19| 22| 22 [175] 34 |445| 31 | 12 | 21 | M16x1.5| SAES 10 MP| 19.3
12 | 22| 24 | 24 |21.5) 38 | 475 33 | 12 | 23 |M18x1.5| SAES 12 MP| 23.4
14 | 22| 27| 27| 22 | 40 |535] 37 | 14 | 25 |M20x1.5| SAES 14 MP| 34.1
16 | 24| 30| 27 |245| 43 |545] 37 | 14 | 27 | M22x1.5 | SAES 16 MP| 39.4
400Kafem® | 20 | 30 | 36 | 32 |265| 48 |64.5| 42 | 16 | 32 |M27x2 | SAES 20MP| 61.3
25 | 36| 46 | 91 | 30 | 54 |725| 47 | 18 | 39 |M3zx2 | saEs25MpP| 1176
5| 30 | 46| 50| 50[355]| 62 |78.5| 50 | 20 | 49 |M42x2 | SAES30MP| 165.5
230Kgfem g™ 55 | 60 | 55 | 41| 72 | 89 | 57 | 22 | 55 | M4s<2 | SAES 38 MP| 233.3
PART MNLUMBER CODE
XAES XU XX
SEI'iES—T
L - Medium
5 = Heavy
Tube 0D (mm) Thread Type

MP - Metric Parallal



